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1
i txzex | NS | EW | 25225 | NS | EW | #4 | #14 | #4 [#14] #4 [#14]] Mean NS EW
1 N |None 4SN-3 150 4HS-1 50 100 3 EW20 -4 1
2 E NS 2SE-1 50 3HS3 140 90 3 EW50 3 -5
3 S | EW 3DN-1 50 2NS-1 50 EW40
4 W |Both 4SW-3 300 2SW5 200 500 11 EW10 7 5
5 N NS 4SW-2 100 2SW3 140 240 6 EW40 4 3
6 E | EW 3HE-3 300 1NE2 120 420 9 NSO 7 3
7 S |Both 3NW-1 100 4SE4 620 720 12 EW260 8 8
8 W |None| 6NS7 1020 6DS7 940 80 2 NS1010 2
9 N | EW 3NS7 520 3NN7 520 NS440 2 -2
10 E |Both 4HXE-4 1100 3NS3 600 500 11 NS510 11 -3
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B# | DL | & Py k] MWEE E& 3 R A~ COP Datum
1
R tyz 23 | NS | EW | 2¥2 2% | NS | EW | #11 | #18 |#11|#18#11|#18 || Mean NS EW
1 N |None 3NN-2 100 4HS-1 50 50 2 EW20 -2 1
2 E NS 2HS2 110 2SW-1 50 60 2 EW50 4 -3
3 S | EW 3NS-1 50 3SE3 140 90 3 EW40 3
4 W |Both 4SW4 620 4SW-3 300 920 14 EW10 -12 -7
5 N NS 2SW3 140 2SW3 140 EW40 -3 3
6 E | EW 2HW-1 100 2NW-1 100 NSO 3 -3
7 S |Both 3NW3 600 2HN-3 300 300 7 EW260 -8 1
8 W |None| 7NN7 1520 7DS-1 50 1570 17 NS1010 11 14
9 N | EW 3NN7 520 3NW-2 200 320 8 NS440 2 6
10 E |Both 3NN3 600 4CS-1 100 700 12 NS510 3 12
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #7 | #9 |[#7 ] #9 | #7[#9 || Mean | Ns EW
1 N |None 4HS-1 50 3NN-1 50 EW20 -1 1
2 E NS 2SE4 170 2SE3 140 30 1 EW50 -3 3
3 S | EW 2NN-1 50 3DN3 110 160 4 EW40 -4
4 W | Both 4SW-2 200 4SW5 650 850 13 EW10 5 12
5 N NS 3SW-1 50 3SW-1 50 EW40 3 -3
6 E EW 2HE2 110 1HE1 80 30 1 NSO -3 2
7 S |Both 3DS-3 300 3NW-1 100 400 9 EW260 -1 -8
8 W |None 6DS7 940 6NN7 1020 80 2 NS1010 -2
9 N | EW 3NS7 520 3NN7 520 NS440 2 -2
10 E |Both 3NS3 600 3NN3 600 NS510 3 -3
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B# | DL | & 2R M3 ES A%EREA COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #5 | #15 | #5 [#15| #5 [#15|| Mean | Ns | EW
1| N |None] 3CN3 110 4SN-3 150 | 260 6 EW20 | 4 4
2 | E|Ns 3NE-2 100 3NE-1 50 50 2 EW50 | 4 3
3|s|Ew| 3DN- 50 2NN-1 50 EW40
4 | W |Both| 4sw-1 100 4SW-3 300 200 5 EW10 | 3 7
5| N| NS 2SW2 110 2SE3 140 | 30 1 EW40 | -2 3
6 | E|EW| 3cs2 100 1HE2 10 | 10 NSO 3 3
7 | s [Both| 3Nw3 600 2HN-3 300 300 7 EW260 | -8 1
8 | W [None| 7Ds7 1440 6DS7 940 500 1 NS1010| 10 2
9| N|EW| 6Ds-1 50 3NN7 520 570 1 NS440 | -10 -2
10 | E |Both A Averagy 3NN3 600 NS510 3
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1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #6 | #8 |#6 | #8 | #6 | #8 || Mean | Ns EW
1 N |None 2HS4 170 4HS-3 150 320 8 EW20 5 4
2 E NS 3NE-2 100 3NE3 400 500 11 EW50 4 8
3 S | EW 1NS1 90 2DN3 110 20 1 EW40 4 -4
4 W |Both 4SW-3 300 4SW-3 300 EW10 7 -7
5 N NS 4SW-2 100 3SW-1 50 50 2 EW40 4 -3
6 E | EW 3SE-1 100 1HE-1 100 NSO 3 -3
7 S |Both 3NE4 630 3NW3 600 30 1 EW260 -9 8
8 W |None| 6DS7 940 6DS7 940 NS1010 -2 2
9 N | EW 3NN7 520 5DS5 400 120 3 NS440 2 1
10 E |Both 3NS3 600 4HXE-2 500 100 3 NS510 3
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B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #2 | #10 | #2 [#10| #2 [#10|] Mean | Ns EW
1 N |None 4HS-1 50 2HS3 140 190 5 EW20 -1 -4
2 E NS 2SE4 170 3NE3 400 230 6 EW50 -3 8
3 S | EW 3NN-3 150 3NN-2 100 50 2 EW40 -3 2
4 W | Both 5CXS-3 800 4SE-3 300 1100 15 EW10 -13 -7
5 N NS 3SW-1 50 3SW-1 50 EW40 3 -3
6 E EW 2NW2 120 3NW-2 200 320 8 NSO -3 -5
7 S |Both 4SE-3 300 2SE2 110 410 9 EW260 1 -4
8 W |None 7DS7 1440 7DS7 1440 NS1010 10 -10
9 N | EW 3NN7 520 3NS7 520 NS440 2 -2
10 E |Both 4HXE-2 500 4NN4 630 130 4 NS510 -3
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl z9zmx [ NS | EW | 25z2% | NS | EW | #12 | #17 [#12|#17|#12]m7 || Mean | Ns | EW
1| N |None] 2HSs2 110 2HS3 140 30 1 EW20 | 4 -4
2 | E| NS 2SE-2 100 3NE-1 50 50 2 EW50 | 4 -3
3| s |Ew| 2DN4 50 3DS-1 50 EW40
4 | W |Both| 4sw-3 300 4SW-3 300 EW10 | 7 7
5| N| NS 4SW-2 100 2SW3 140 | 240 6 EW40 | 4 3
6 | E|EW 1HE2 110 2CE-1 100 210 5 NSO -3 -3
7 | s |Both| 3Nwa 630 2HW-2 200 830 13 EW260 | -9 10
8 | W |None| 6NN7 1020 6DS7 940 80 2 NS1010 2
9 | N|EW 5CN5 400 3DS6 170 230 6 NS440 | -1 7
10 | E |Both| 4HXW-1 | 200 3NN3 600 400 9 NS510 | -7 -3
#3+ INP| 16 |28 A | 18
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NS #®¥ &4%3 (70

EW #és 2 44(P0) Bk % (R0)
B# | DL | % Py k] MWEE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | &¥zu% | NS | EW | #1 [ #16 | #1 [#16] #1 [#16 || Mean | Ns EW
1 N |None| 4HS-1 50 4HS-2 100 50 2 EW20 -1 2
2 E NS 2SE-1 50 3NE-1 50 EW50 3 -3
3 S | EW 4NS-2 100 3NN-1 50 50 2 EW40 -2
4 W | Both 4SW4 620 4SW-3 300 920 14 EW10 12 -7
5 N NS 2SW3 140 2SW2 110 30 1 EW40 -3 2
6 E EW 1HE1 80 2DW2 90 10 NSO -2 3
7 S [Both 2SE3 140 4SE5 650 510 11 EW260 3 9
8 W |None 5DS7 440 6DS7 940 500 11 NS1010 -11 2
9 N | EW 3NN7 520 2DS7 190 330 8 NS440 2 6
10 E |Both 3NN3 600 3NN3 600 NS510 3 -3
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1
R txz 2% | NS | EW | 29223 | NS | EW | #3 | #13 | #3 [#13 #3 [#13 || Mean NS EW
1 N [None 4HS-2 100 4HS-1 50 50 2 EW20 -2 1
2 E NS 3NE3 400 2SE3 140 260 6 EW50 -8 3
3 S | EW 3NN-2 100 3NN-3 150 50 2 EW40 -2 3
4 W | Both 4SW4 620 4SW-3 300 920 14 EW10 -12 -7
5 N | NS 3SwW3 140 2SW2 110 30 1 EW40 -3 2
6 E | EW 2NS-2 100 1HE2 110 10 NSO -3 3
7 S |[Both 1NW3 150 2SW-1 100 250 6 EW260 3 -8
8 W |None 7NN7 1520 6DS7 940 580 11 NS1010 1 2
9 N | EW 5DS7 440 6NN7 1020 580 1 NS440 -1
10 | E |Both 4HXE-3 800 6CS-3 300 || 1100 15 NS510 7 13
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
Kl z9zmx | NS | EW | 25z2% | NS | EW | #14 | #4 |#14] #4 |#14] #4 || Mean | Ns | EW
1 | N |None| 4HS-1 50 4SN-3 150 | 100 3 EW20 | -1 4
2 | E| NS 3HS3 140 2SE-1 50 90 3 EW50 | 5 -3
3| s |Ew| 2ns4 50 3DN-1 50 EW40
4 | W |Both| 2sws 200 4SW-3 300 500 1 EW10 | -5 .7
5| N| NS 2SW3 140 4SW-2 100 240 6 EW40 | -3 -4
6 | E|EW 1NE2 120 3HE-3 300 420 9 NSO -3 7
7 | s |Both| 4sEa 620 3NW-1 100 720 12 EW260 | -8 -8
8 | W |None| eDs7 940 6NS7 1020 80 2 NS1010| -2
9 | N|EW 3NN7 520 3NS7 520 NS440 | 2 -2
10 | E |Both| 3NS3 600 4HXE-4 | 1100 500 1 NS510 | 3 11
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Table 2

11 NS =i ¥ (R0)
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M

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #18 [ #11 [#18[#11]#18[#11 || Mean | Ns EW
1 N |None| 4HS-1 50 3NN-2 100 50 2 EW20 -1 2
2 E NS 2SW-1 50 2HS2 110 60 2 EW50 3 -4
3 S | EW 3SE3 140 3NS-1 50 90 3 EW40 -3
4 W | Both 4SW-3 300 4SW4 620 920 14 EW10 7 12
5 N NS 2SW3 140 2SW3 140 EW40 -3 3
6 E EW 2NW-1 100 2HW-1 100 NSO 3 -3
7 S [Both 2HN-3 300 3NW3 600 300 7 EW260 -1 8
8 W |None 7DS-1 50 TNN7 1520 1570 17 NS1010 -14 -11
9 N | EW 3NW-2 200 3NN7 520 320 8 NS440 -6 -2
10 E |Both 4CS-1 100 3NN3 600 700 12 NS510 12 -3
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
bl Hre% | NS | EW | 6%=223% | NS | EW | #9 | #7 |#9 | #7| #9 | #7 || Mean | Ns EW
1 N |None| 3NN-1 50 4HS-1 50 EW20 -1 1
2 E NS 2SE3 140 2SE4 170 30 1 EW50 -3 3
3 S | EW 3DN3 110 2NN-1 50 160 4 EW40 4
4 W | Both 4SW5 650 4SW-2 200 850 13 EW10 12 -5
5 N NS 3SW-1 50 3SW-1 50 EW40 3 -3
6 E EW 1HE1 80 2HE2 110 30 1 NSO -2 3
7 S [Both 3NW-1 100 3DS-3 300 400 9 EW260 8 1
8 W |None 6NN7 1020 6DS7 940 80 2 NS1010 2
9 N | EW 3NN7 520 3NS7 520 NS440 2 -2
10 E |Both 3NN3 600 3NS3 600 NS510 3 -3
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #15 | #5 |#15] #5 |#15| #5 || Mean | Ns | EW
1 | N |None] 4sN-3 150 3CN3 110 260 6 EW20 | -4 4
2| E| NS 3NE-1 50 3NE-2 100 50 2 EW50 | 3 -4
3|8 |EW|[ 2NN 50 3DN-1 50 EW40
4 | W |Both| 4sw-3 300 4SW-1 100 200 5 EW10 | 7 -3
5| N|NS 2SE3 140 2SW2 110 30 1 EW40 | -3 2
6 | E|EW 1HE2 110 3CSs-2 100 10 NSO 3 3
7 | s |Both| 2HN-3 300 3NW3 600 | 300 7 EW260 | -1 8
8 | W |None| 6DS7 940 7DS7 1440 500 1 NS1010| -2 -10
9 | N|EW 3NN7 520 6DS-1 50 | 570 1 NS440 | 2 10
10 | E |Both|  3NN3 600 A Averag NS510 | 3
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R t¥z2% | NS | EW | 243223 | NS | EW | #8 | #6 | #8 ] #6 | #8 | #6 || Mean | Ns EW
1 N |None 4HS-3 150 2HS4 170 320 8 EW20 -4 -5
2 E NS 3NE3 400 3NE-2 100 500 11 EW50 -8 -4
3 S | EW 2DN3 110 1NS1 20 20 1 EW40 4 -4
4 W | Both 4SW-3 300 4SW-3 300 EW10 7 -7
5 N NS 3SW-1 50 4SW-2 100 50 2 EW40 3 -4
6 E EW 1HE-1 100 3SE-1 100 NSO 3 -3
7 S |Both 3NW3 600 3NE4 630 30 1 EW260 -8 9
8 W |None 6DS7 940 6DS7 940 NS1010 -2 2
9 N | EW 5DS5 400 3NN7 520 120 3 NS440 -1 -2
10 E |Both 4HXE-2 500 3NS3 600 100 3 NS510 -3
wit MP| 2 |27 6 | -21
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B# | DL | £ % MEZ 2RE ES A%EREA COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #10 | #2 |#10] #2 |#10| #2 || Mean | Ns | EW
1| N |None] 2Hs3 140 4HS-1 50 | 190 5 EW20 | 4 1
2 | E| NS 3NE3 400 2SE4 170 230 6 EW50 | -8 3
3| s |EwW 3NN-2 100 3NN-3 150 | 50 2 EW40 | -2 3
4 | W |Both| 4se-3 300 5CXS-3 800 | 1100 15 EW10 | 7 13
5| N| NS 3SW-1 50 3SW-1 50 EW40 | 3 -3
6 | E|EW| 3Nw-2 200 2NW2 120 | 320 8 NSO 5 3
7 | s |Both| 2sE2 110 4SE-3 300 410 9 EW260 | 4 A1
8 | W |None| 7Ds7 1440 7DS7 1440 NS1010| 10 -10
9 | N|EW 3NS7 520 3NN7 520 NS440 | 2 -2
10 | E |Both| 4NN4 630 4HXE-2 | 500 130 4 NS510 | 3
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R txzex | NS | EW | cxn22% | NS | EW | #17 | #12 [#17[#12|#17]#12 ]| Mean NS EW
1 N |None 2HS3 140 2HS2 110 30 1 EW20 4 -4
2 E NS 3NE-1 50 2SE-2 100 50 2 EW50 3 -4
3 S | EW 3DS-1 50 2DN-1 50 EW40
4 W | Both 4SW-3 300 4SW-3 300 EW10 7 -7
5 N NS 2SW3 140 4SW-2 100 240 6 EW40 -3 -4
6 E EW 2CE-1 100 1HE2 110 210 5 NSO 3 3
7 S |Both 2HW-2 200 3NW4 630 830 13 EW260 10 9
8 W |None 6DS7 940 6NN7 1020 80 2 NS1010 -2
9 N | EW 3DS6 170 5CN5 400 230 6 NS440 -7 1
10 E |Both 3NN3 600 4HXW-1 200 400 9 NS510 3 7
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NS #R¥ &%7(F0) 16 T bl 8 1 NS 44 3330
EW B ki Bk (RO0) a e EW aéxd 2 33(3C)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2¥z8% | NS | EW | #16 | #1 |#16] #1 |#16] #1 Mean | NS EW
1 N |None| 4HS-2 100 4HS-1 50 50 2 EW20 -2 1
2 E NS 3NE-1 50 2SE-1 50 EW50 3 -3
3 S | EW 3NN-1 50 4NS-2 100 50 2 EW40 2
4 W | Both 4SW-3 300 4SW4 620 920 14 EW10 7 12
5 N NS 2SW2 110 2SW3 140 30 1 EW40 -2 3
6 E EW 2DW2 90 1HE1 80 10 NSO -3 2
7 S [Both 4SE5 650 2SE3 140 510 11 EW260 -9 -3
8 W |None 6DS7 940 5DS7 440 500 11 NS1010 -2 11
9 N | EW 2DS7 190 3NN7 520 330 8 NS440 -6 -2
10 E |Both 3NN3 600 3NN3 600 NS510 3 -3
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
¥l 29zmx | NS | EW | 25z2% | NS | EW | #13 | #3 |#13] #3 |#13] #3 || Mean | Ns EW
1| N |None| 4HS-1 50 4HS-2 100 | 50 2 EW20 | -1 2
2| E| NS 2SE3 140 3NE3 400 | 260 6 EW50 | -3 8
3| s |EW 3NN-3 150 3NN-2 100 50 2 EW40 | -3 2
4 | W |Both| 4sw.3 300 4SW4 620 | 920 14 EW10 | 7 12
5| N | NS 2SW2 110 3SW3 140 | 30 1 EW40 | -2 3
6| E|EW 1HE2 110 2NS-2 100 10 NSO -3 3
7 | S |Both| 2sw-1 100 INW3 150 | 250 6 EW260 | 8 -3
8 | W |None| 6Ds7 940 7NN7 1520 580 1 NS1010| -2 -1
9| N|EW 6NN7 1020 5DS7 440 580 1 NS440 | 11
10 | E |Both| 6CS-3 300 4HXE-3 | 800 1100 15 NS510 | -13 7
w3 INP[40 |28 4 | 9
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